Chapter-8
Basic applications of Differential and Integral Calculus

MTP-March ‘20

[e™dx
03X
(a) e +c (b) —+c (c) logx+c (d) e*+c
: a

3 The gradient of the curve y = 2x>-5x*-3x at x = O is

{a) 3 - (b) -3 {c}) 1B (d) none of these

4

3. Evaluate :{(ZX * S)dx dx and the value is

(a) 3 (b) 10 (c) 30 (d) None of these.
4. If f(x) = x>~ 6x+8 then f'(5) — f'(8) is equal to

(a) f(2) (b) 3.f(2) (c) 2.f(2) (d) none of these.

MTP-October ‘19
5 If y3 . %3 = (x+y)?, then % is
; : : dx
5
y i y
a) - (blsz (c) 3 (d) None of these
MTP-Oct’20

6. If £(X) = 3X2+2 & f(0)=0 then find f(2)

{a) 8 : (b) 10 fe) 12 ‘ (d) None of these
7. The gradient of the curve x*+y* = 9 at the point (1,2) is

(a) -14 (b) % (c) 4 (d) -4
8 ifX--——Zt—— “—J:—tz—thengl+z(‘is

: g e dx y
@4 1 (b) 2 (c) O (d) 4

®
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10.

11.

12.

13,

14,

15,

16.

2x+1

5e
Evaluate[x(x+1) dx (d) None of the

(C) IOS (X2+1) +C

(a) xlog (x*-x)+c (b) log (x?+x)+ C

il
Evaluate X.eXdx
b (d 1

e (b) e* (e} e

MTP-March ‘19

dy
Givenx =2t +5,y=t*-2; ~ is calculated
- e of these
n
(a) t (b) -1/t e (4l

; ; - in the first
The slope of the tangent to the curve y = x? x at the point, where the line y = 2 cuts the curve rs

@

guadrant, is

(a) 2 (b) 3 (c) -3 (d) -2
dy
For the curve x* + y? + 2gx + 2hy = 0, the value of — at (0,0) is
dx
(a) -g/h (b) g/h (c) h/g (d) -h/g
Ie'3xdx '
1. i
L e (b et () ~Te¥y
3 3 (d) ~3e ’3)( +c
fx.logx
X :
(@) —.logx-—+¢ 2
2 4 SR x?
( ) 2 .logx-\_"_c
)(2 )(2 .
(C) ?.Iogx+—-+c 2
¢ (d) ‘\Jﬂgx + xz
2 ?+c
MTP-April 119

. ‘dy
if x= at?, y= i
y=2at, then{dx jz=2 Is equal to

(a) 12 (b) -2




T e Y SRt uit vt

A The gf‘ﬂdiﬁﬁl of the curve y = Ax’ - Ixatx =148
i (a) 4 b}y & f¢) 8 (d) Mone of these

" la + x|
a4 x| i P ook

log | BT (b) - _"Oﬂg“""' »é+(‘
(a) 241 @~ x| : 2a la - x|
b . ol
{c) _}/ k)g.%ﬁ - PO (d) None of these
" 28 ix+al
{
i 1 r ]
§ s s s % d“
.} 1iogx (logx)” |
SETR i
(a) 35&){ : (b) log x
-X
. e d) None of these
(<) log x (d)
2.x
20. x“e’ dx
(a) e (x’-2x42) +c (b) e*(x*-2) +c (c) e (P+2xs2)+c (d) € (x*-2x) +¢

y

a dy ;
21 ﬁxzaﬁy:;;,“‘* att=1is

dx
{a) 1 (b) -1 (c) 3 (d) 23
MTP-Oct ‘20
dy
2. Mx, xJI+y+yVlex =0, then (1ex) 4, =
{a) O {b) 1 {c) -1 (d) 2
I
23. Find ?"Y astt=1whenx=tlogtandy= &;‘5‘_}_
g 1t .
(a) 1 (b) -1 ; () -12 (d) 0
MTP-March ‘21
;
2 Evsiuste | XX
o
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mTp-March ‘22
mTP-March =2
(d) e'x+ C
= fex (x2 +2x)dx (© x.e*+C
(a) x2e*+c (b) x.e™c
: 91'? (d) none of thes,
26.  Ifxy=1theny’ == )

b) 0
(a) 1 ( 21
MTP-Oct 22

dy
= pV2x , —is calculated as
R yse®, =nis

V2« ne
gt (c) = e
(a) Py (b)  evax \/i;
5 2
I——x-—dx
28. Evaluate: 0,2 +(5-X)~2
(a) 25 (b) © B & 2
MTP-Nov ‘21
29. Marginal cost and marginal revenue of a commodity is C’(x)=8+6x and R’(x)=30. Fixed cost is 0. Find the
total profit.
(a) 22x+3x2 (b)  22x-3x2 (c) 22x -y (d) x4+ 3y
0. 2 aKexy,
3X 42X X
4 37 B dx
MM Y 3X 32x ox
@ Tiog(zn0) (b & By L
. ' log(360)
23x_32x 5X
A Y o
(c) log(180) + (d) 23X_32x_5x
MT | 'og(s0) ~*¢
P-Oct ‘21
. \
31. if f(x) = x2/e* | then f'(-1) is equal to
(a) -3e (b) 1/e
c) o
(d) None




MTP-Nov'21

d
( 32.  Find the value of e of (-3x+7)
@ 3 (b) -3 Sl s

33. A total cost function of a company RXL Itd is C(x) = 10+50x-30x2+x3/3 Where x denotes the output. Find
the output level at which the profit is maximum if price function is given by 450-30x

{a) 30 (b) 40 fe) S50 (d) 20

MTP-2 Nov'22
5
u. [ (er+e”) axis
(a) e-et (b) el-e (c)e+e™ (d) None of these

35.  If f(x) = x“and £Z(1) = 10, then the value of k is :

(a) 10 (b) -10 (c) 1/10 : (d) None of these
Zy ;
36. if y = ae™ + be™, then o is equal to
X
(a) n?y (b) -n’y (c) ny (d) None of these

MTP-1 Nov’22

X
37, j.x.e dx

(@) -1 (b) 1 (c) e (d) 1/e
MTP-2 June’22
! L
38, ify =x7, then e IS :
(a) x*(2 +log x) (b) x* log(ex) (c) x*.log (d) None of these
3g fy= \/;‘i’”"l“‘th 2 fi;v" i
. y = \/}- en2x - " is
ol R e
(a) fx s (b) Jx+ i (c) X e (d) None of these
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40. Evaluate IZ"xzdx .
X 33 XZ.ZHI' ,,2:.’——’-+C
2,\" x2 x.2.\'+1 2x+l y’ L st 33 :
e we o0 7y (log )
@ T3 legdr  log2) i T
21'. X2 .\73.2“ 2,\'+1
£ f these
(c) 3 3 +(log2)3+c (d) None‘O
ANSWER KEYS '
4 (b) 77 tlb) 3 & (b) |
S5
(a) 6 (c) 7 g (c)
) b
(b) 10 (d) 11 . fa) & (b)
15 (a) 16 (a)
17 (b) 18 (a) .
2l i) L 20 (a)
25 (a) 26 (b) : R "
27
29 (a)
(b) 0 (b) . 28 (a)
33 d (a)
() 34 (a) 32 (b)
37 (b) a5 (a)
58 b 36 (a)
\J 39 (a)
T 40  (d)
S LS.
g, e
56
\



